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The line graph belaw shows changes in the amount and type of fast food consumed By
Australian teenagers from 1975 to 2000.
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AULhOT . . .. e e 74 TIELTS Academic Task 1: How to write at a band 9 level F oreword The 2017 version of this book marks the second update since this work was first released in 2011. The purpose of this book has always been to provide the IELTS candidate with a brief but actionable

summary of how to reflect data in written English in the Task 1 portion of the Academic IELTS Writing exam. This updated version has been evolved in a variety of ways, but two changes are of particular note: (1) the exploration of the relationships that exist between the four IELTS rubric breadths and (2) the testing approach developed for tasks
involving maps, a question type that has become increasingly prevalent over the past two years. The suggested responses in this work were read for accuracy by a practising IELTS examiner in March of 2017. ‘Practising IELTS examiner’ is defined as a person holding a letter from the IELTS Test Partners indicating their current status as an active
IELTS examiner. The proofreading examiner answered ‘yes’ when asked whether all sample responses in this book would be likely to score band 9 if produced in an actual IELTS sitting. The participating examiner was asked to operate at a capacity that they felt did not call their confidentiality arrangement with Cambridge ESOL, the British Council,
and IDP Australia into question. Although a helpful guide, this book cannot guarantee IELTS Academic Task 1 success. Structural needs for Academic Task 1 responses can vary widely depending on the nature of the source type and task description. There is thus no universally ‘correct’ Academic Task 1 response format, and this means the response
structures suggested in this book may need to be adapted. It should also be remembered that this book teaches grammatical and lexical syntax through demonstration. It is the candidate’s responsibility to couple what they learn from these pages with active practice and grammatical and lexical feedback from an IELTS Writing coach, such as those
operating on the IELTSNetwork.com forum. The legacy of this book is the product of ongoing years of classroom testing, writing, editing, and rewriting. No part of this work may be reproduced or sold in whole or in part, or transmitted in any form or by any means, electronic, mechanical, or otherwise, without the written permission of its author,
Ryan Thomas Higgins. Complete copies of this book may be retained electronically only by those who have purchased it from Ryan Thomas Higgins. Updates of Task 1: How to write at a band 9 level have always been, and will always be, made available free of charge to legitimate purchasers of this work. To receive an updated copy, email

[email protected] from the email address originally used to make purchase. For more information about this book, its Academic Task 2 counterpart, or any other IELTS product created and published by Ryan Thomas Higgins, please visit ieltsielts.com 4 IELTS Academic Task 1: How to write at a band 9 level W hat is IELTS Academic Writing Task 1?
The writing portion of the IELTS exam is 60 minutes in length. The Academic and General modules require the candidate complete two writing demonstrations referred to as Task 1 and Task 2. Academic Module Task 1 requires the candidate write a descriptive report based on information given in a graph, table, chart or diagram. This is different
from General Module Task 1, which requires candidates write a letter. Essays are written to fulfil Task 2 on both exams. Essay questions are very similar between the two exams; however, General test takers may be less formal in their response. Because the IELTS Writing mark weights 33% to Task 1 and 66% to Task 2, candidates are expected to
pace themselves accordingly. For most candidates, this means allotting 20 minutes to Task 1 and 40 minutes to Task 2. A successful Academic Task 1 response demonstrates the candidate’s ability to interpret data and then describe this data in organised and coherent writing. The submitted piece should be cohesive and logical, and exhibit a level of
detail that would allow for a relatively accurate recreation of the source. Examiners gauge the candidate’s performance by weighing the Task 1 response across four areas - Task Achievement, Coherence and Cohesion, Lexical Resources, and Grammatical Range and Accuracy. The official rubric used by examiners is confidential; however, the British
Council makes public a descriptors chart that explains the bands in very similar language. Familiarity with this chart and the nuances that exist between the bands and marking breadths is important to a candidate’s IELTS strategy. Fig. 1.1. The public version of the IELTS Task 1 Writing band descriptors 5 IELTS Academic Task 1: How to write at a
band 9 level Although these performance indicators are often presented as having a lateral relationship, as seen above, their practical relationship is more accurately described as a tiered structure rooted in a foundation of grammatical and lexical ability. Strength in grammar and lexical use, the base structural components of language, is thus a
necessary precursor to scoring well for skills that measure overarching communicative ability in writing, namely coherence, cohesion and task fulfilment. In fact, the Task Achievement and Coherence and Cohesion breadths of the chart define themselves through repeated reference to ‘language clarity’, a descriptor that is impossible to fulfil using
grammatically and lexically inaccurate language. Fig. 1.2. In practical use, the IELTS rubric breadths have a scaffolded relationship Academic Task 1 success requires the candidate be realistic about their positioning within the examiner’s rubric. If grammatical and lexical abilities are weak, these areas must be addressed before any band growth can
be expected. 6 IELTS Academic Task 1: How to write at a band 9 level H ow to interpret Academic Task 1 questions IELTS Academic Task 1 data source types include graphs, tables, charts, or diagrams, or some combination of these. There are two parts to Academic Task 1 questions: the task description area and the data source. Task descriptions
typically frame the data source in some way and may declare certain expectations for the response, such as the need to compare or contrast items. Understanding the Academic Task 1 question requires first simplifying the task description and its data source into four basic categories: (1) the source type(s) and its components, (2) the broad details
created by overarching patterns in the data, (3) the minor details and any trends they produce, and (4) the minute details. Figure 2.2 demonstrates where these components are located in an IELTS Task 1 line graph. Data sources present raw, factual data that does not require any additional information to be interpreted. Fig 2.1. 7 Source: IELTS
Academic Task 1: How to write at a band 9 level Fig. 2.2. (1) the source type and its components, (2) the broad details, (3) the minor details, (4) the minute details In the above question, the source type is declared in the task description: this is a graph presenting vehicle ownership rates in the UK between the years 1951 and 2000. The broad details
are the overarching patterns in the data, namely the fact that overall vehicle ownership appears to have grown in the UK. In the candidate’s response, these overarching details would be summarised in one or two sentences and coupled to help introduce the topic to the reader. Minor details describe the smaller components that make up the broad
details. The rising and subsequent plateauing of single vehicle owners in the UK are examples of two minor details. Minute details reference specific values within a data source, such as precise numerical data at a specific point in a graph. They are only referenced to evidence a minor detail starting, finishing or changing. 8 IELTS Academic Task 1:
How to write at a band 9 level The categorising of the four levels of data for the above graph can be visualised like this: Fig. 2.3. A Task 1 question broken down into its varying components 9 IELTS Academic Task 1: How to write at a band 9 level The process of organising data into its source type and broad, minor and minute details can be exercised
for other data source types, too. In the table below, for example, the source type and its components are most clearly indicated in the task description and the table’s title. Broad details would include the range of data and any patterning style that can be observed, such as the varying of Australian weather averages for 2010 between 7.3 and 31.1
degrees Celsius. Minor trends would be those cities of comparable temperature ranges or precipitation rates that could be comfortably grouped into a single paragraph in the response. This could mean grouping the cities that experience similar temperature fluctuation, such as Sydney, Perth, Brisbane, Adelaide, Darwin and Hobart. Minute details
are those figures in the list that act as evidence of the overarching trends and are as such worth referencing. Fig. 2.4. 10 IELTS Academic Task 1: How to write at a band 9 level Because pie charts reveal percentile data at a single moment in time, it is not uncommon for them to be coupled with a second data source, often another pie chart. Pie chart
questions usually depict certain components increasing while others decrease or remain unchanged, a varied growth pattern that is best identified as the broad detail for the source. This is the case in Figure 2.5, where snapshots are given for the American diet at the beginning and end of a 50 year period. The minor details are threefold: a negative
correlation between dairy and eggs and sugar and fat; an increase in overall caloric intake; and unchanging ratios among other components of the diet. Minute details are the specific figures the candidate would share as tangible evidence of these trends, such as sugar and fat’s increase of 8% between 1961 and 2011. Fig. 2.5. 11 Source: National
Geographic IELTS Academic Task 1: How to write at a band 9 level Diagrams challenge the candidate’s ability to describe data that is spatially or chronologically sensitive, such as the water heating process outlined in Figure 2.6. In most instances, the broad detail is a macro description of the cycle or process and what it produces, in this case hot
water via solar energy. The minor details organise the diagram’s smaller components or stages into compartmentalised regions, and these regions may dictate the topics used to paragraph the response. For example, the three base components that make up the apparatus — namely the solar heater, the electric boiler, and the water tank — could be
thought of as separate minor details and designated paragraphs accordingly. Precise references to specific components or minuscule steps that exemplify the processes at work within the the minor details would be classified as the minute details. Fig. 2.6. 12 Source: U.S. Department of Energy IELTS Academic Task 1: How to write at a band 9 level
An increasingly popular source type is topographical. Because it often presents the same location at two different moments in time, the broad details of map sources involve identifying and communicating evolution, a process that is heavily dependent on comparative language. Minor details are created when the charted area is divided into regions
that can be compared between the maps. The specific ways in which these regions evolve can be thought of as the minute details. For example, the creation of golf and tennis courts out of farmland in the north-east quadrant of the map is an instance of a minor detail with two minute details. Fig. 2.7. 13 IELTS Academic Task 1: How to write at a band
9 level It is also possible to receive two different data source types in Academic Task 1. For example, Figure 2.8 couples a bar graph with a table and reveals that average public transport usage per person decreases as population density increases. The minor details can be grouped different ways, but it would make sense to first compare average
public transit usage per person and then contrast this with the figures for population density. In this case, there is an inverse relationship between a city’s population density and its total daily public transport trips per person. The minute details would be the specific figures referenced. For example, roughly 1.15, 0.75 and 1.3 daily public
transportation trips are taken in the three respective cities. Breaking these values further down into subway versus public bus ridership would be included too, along with specific values for population density. Fig. 2.8. 14 IELTS Academic Task 1: How to write at a band 9 level Try it yourself! Look at the following tasks and match the sentences to the
level of data they describe. The first item has been matched for you. Source type The prevalence of motorcycles and bicycles increased while car usage decreased. Bus usage remained relatively unchanged. Broad detail Car usage fell from 33% to 28% between 2006 and 2007. Minor details Overall motor vehicle speeds in London decreased between
2006 and 2007. Minute details The two line graphs show morning traffic patterns in London on weekdays for the 2006 to 2007 period. 15 IELTS Academic Task 1: How to write at a band 9 level Source type Laptop computer ownership grew for all countries over the period in question. Broad detail The bar graph describes laptop computer ownership
across several European countries. Minor details Sweden and Finland had roughly 1% laptop ownership in 1995. Minute details The UK, Germany and France experienced similar growth patterns between 1995 and 2005. 16 IELTS Academic Task 1: How to write at a band 9 level Source type The cycle has four major stages. Broad detail Nitrobacter
bacteria create nitrate by removing nitrite. Minor details Ammonia is created in five ways. Minute details This diagram describes the nitrogen cycle that exists in a fish tank. 17 IELTS Academic Task 1: How to write at a band 9 level Try it yourself! (Answers) Source type Broad detail The prevalence of motorcycles and bicycles increased while car
usage decreased. Bus usage remained relatively unchanged. Car usage fell from 33% to 28% between 2006 and 2007. Minor details Overall motor vehicle speeds in London decreased between 2006 and 2007. Minute details The two line graphs show morning traffic patterns in London on weekdays for the 2006 to 2007 period. Source type Laptop
computer ownership grew for all countries over the period in question. Broad detail The bar graph describes laptop computer ownership across several European countries. Minor details Sweden and Finland had roughly 1% laptop ownership in 1995. Minute details The UK, Germany and France experienced similar growth patterns between 1995 and
2005. Source type The cycle has four major stages. Broad detail Nitrobacter bacteria create nitrate by removing nitrite. Minor details Ammonia is created in five ways. Minute details This diagram describes the nitrogen cycle that exists in a fish tank. 18 IELTS Academic Task 1: How to write at a band 9 level S tructuring the Academic Task 1 response
After the candidate has mentally dissected the Task 1 question, the source type, broad details, minor details and minute details must be summarised using a written structure that presents organised and logical paragraphing. The response begins with an opening paragraph that declares the source type and its broad details, an opening structure that
in effect summarises the source as a whole. This is followed by a descriptive section that typically contains two or three paragraphs, or on very rare occasions more, that logically group minor details and declare trends present in the data. At points where the minor details start, finish, change, or are significant in any way, minute details are shared to
act as tangible markers. These partnered minor and minute detail sentences can be added or removed as needed. This entire structure can be thought of as a goblet, where the overview section narrows the source type to the broad trend and the descriptive section alternates between minor and minute details: Fig. 3.1. 19 IELTS Academic Task 1:
How to write at a band 9 level Although there is no one universally correct way to organise items into descriptive paragraphs, grouping minor details that are similar or easily compared simplifies the writing process and leads to a more logically structured and cohesively worded product. To demonstrate, take the following example task: Fig. 3.2. After
the source type, broad, minor and minute details are identified, the candidate can start inserting these items into the Task 1 structure. In Figure 3.2, for example, the minor details are so similar — all populations in the source increased — that one option is to group all of them into a single descriptive paragraph: 20 IELTS Academic Task 1: How to
write at a band 9 level Fig. 3.3. As an alternative, the candidate could also group the details by country, thus organising the data into three descriptive paragraphs. This approach is equally appropriate and would no less fulfil the breadths of the examiner’s rubric: Fig. 3.4. 21 IELTS Academic Task 1: How to write at a band 9 level For sources that
communicate time-sensitive data, such as line and bar graphs that plot time along their x-axis, or pie charts that create trends between two points in time, a stylistic option is to reposition the broad details sentence to the end of the response, effectively concluding the piece through summary: Fig. 3.5. 22 IELTS Academic Task 1: How to write at a

band 9 level Try it yourself! The sentences in the below response are out of order. Number the sentences appropriately. The first sentence has been done for you. It then carries on to a substation for a further increase to the voltage, a step that better allows the energy to be transmitted over long distances. 1 This diagram
illustrates the harvesting of wind energy. 23 IELTS Academic Task 1: How to write at a band 9 level The process is linear in nature and not cyclical and appears to have five major phases. Firstly, wind blows into the rotor blades of an apparatus that is encased in solid steel and sits atop a tower. A local transformer
receives the transferred energy and reduces its voltage for public consumption. This energy is then channelled along power cables to a transformer at the base of the tower, which increases the energy’s voltage in preparation for transmission to a substation. These rotor blades follow the wind’s direction via a wind vane

attached to the back of the apparatus. Their spinning rotates an interior axel which produces energy via a generator. 24 IELTS Academic Task 1: How to write at a band 9 level Try it yourself! (Answers) The sentences in the below response are out of order. Number the sentences appropriately. The first sentence has been done for you. 6 It



then carries on to a substation for a further increase to the voltage, a step that better allows the energy to be transmitted over long distances. 1 This diagram illustrates the harvesting of wind energy. 2 The process is linear in nature and not cyclical and appears to have five major phases. 3 Firstly, wind blows into the
rotor blades of an apparatus that is encased in solid steel and sits atop a tower. 7 A local transformer receives the transferred energy and reduces its voltage for public consumption. 5 This energy is then channelled along power cables to a transformer at the base of the tower, which increases the energy’s voltage in preparation for
transmission to a substation. 4 These rotor blades follow the wind’s direction via a wind vane attached to the back of the apparatus. Their spinning rotates an interior axel which produces energy via a generator. 25 IELTS Academic Task 1: How to write at a band 9 level W riting the overview section The Academic Task 1 response is framed
by the overview paragraph. This section is created by combining a declaration of the the source type with a description of the broad details. Models of this in action for all source types are demonstrated below. Fig. 4.1. This line graph maps trends in car ownership in the United Kingdom between 1951 and 2000. It can be seen that overall car
ownership ballooned in the United Kingdom during this time from a rate of roughly 12% to 74%. 26 IELTS Academic Task 1: How to write at a band 9 level Fig. 4.2. The table communicates temperature and precipitation averages for select Australian cities in 2010. The figures for both indicate variance between regions of Australia. There appears to
be no noteworthy pattern between precipitation rate and temperature for any city. 27 IELTS Academic Task 1: How to write at a band 9 level Fig. 4.3. The pie charts depict the changes in the average American diet over a 50 year period between 1961 and 2011. There was a trend towards eating more sugar and fat and less dairy and eggs, while
eating more calories in total. 28 IELTS Academic Task 1: How to write at a band 9 level Fig. 4.4. This diagram outlines an apparatus that can be used to heat water for domestic use via the sun. As will be explained, this apparatus is capable of providing hot water regardless of sunlight levels. 29 IELTS Academic Task 1: How to write at a band 9 level
Fig. 4.5. The two maps compare the topographical nature of the village of Richardson Pike in 1995 and present day. Major urbanisation occurred during the period in question. 30 IELTS Academic Task 1: How to write at a band 9 level Fig. 4.6. The bar chart indicates the number of journeys made by public transport per person per day in three major
cities in 2015, while the table shows the population density of those three cities in that year. The data makes it clear that population density is negatively correlated with public transport use. 31 IELTS Academic Task 1: How to write at a band 9 level Try it yourself! Write the overview paragraph for the following questions.

32 IELTS Academic Task 1: How to write at a band 9 level

33 IELTS Academic Task 1: How to write at a band 9 level

34 IELTS Academic Task 1: How to write at a band 9 level Try it
yourself! (Answers) The line chart on the left indicates the average speed of traffic in London between 7 am and 10 am while the one on the right shows the percentage of traffic that was made up of buses, cars and motorcycles or bicycles between those times for the years 2006 and 2007. Overall, the average speed of traffic fell during the period
despite an increase in 2006. The bar chart shows the percentage of people in ten European countries who owned laptops in 1995 and 2005. Overall, laptop ownership increased substantially in all ten countries, though the growth was most marked in Denmark and lowest in Spain. This diagram gives an overview of how the nitrogen cycle occurs inside
a fish tank. The four major stages within this cycle are marked by interactions between chemical and biological processes that are dependent on the presence of fish and plant life. 35 IELTS Academic Task 1: How to write at a band 9 level W riting the rest of the Task 1 response After the candidate has written the overview paragraph, additional
paragraphs are added to explain the data source in more depth via the minor and minute details. This description section should paraphrase the information appropriately, sharing minute details only when the data begins, ends or changes. Responses that chronicle the minutiae of the source do not demonstrate the candidate’s ability to prioritise
information and write concisely. For example, with reference to Figure 5.1, it would be needlessly longwinded to describe the one-car trend as: 12% of British households in 1951 had a car. This number rose to 20% by 1956, 30% by 1961, 40% by 1966, and 45% by 1969. The value then dipped to 42% in 1973 but again rose to 45% in 1974. [...]
However, sharing too little detail is equally problematic and leads to a limited response that does not fulfil the task: Single car owners in the UK increased. Fig. 5.1. An appropriate response shares only enough detail to allow for a faithful recreation of the source. For example, the two minor details of the one-car trend could be described concisely yet
accurately in one sentence: Between 1951 and 1969, the number of British people with one car rose steadily from 12% to 45%, a rate that varied little through to the year 2000. 36 IELTS Academic Task 1: How to write at a band 9 level For people with two cars, concise reporting can be carried out in a select few sentences: Dual car owners
experienced a much more linear growth pattern, with values swelling from 1% to 23% during the period in question. Of note is the modest acceleration that is exhibited by the trend. The three-cars trend would be described in a similar manner: A somewhat similar growth pattern, albeit less pronounced, was experienced by those that owned three or
more cars. Between 1951 and 1969, these people made up a negligible portion of British society. This value climbed steadily to 6% by the year 2000. When combined with its overview paragraph, the response forms a cohesive whole: This line graph maps trends in car ownership in the United Kingdom between 1951 and 2000. It can be seen that
overall car ownership ballooned in the United Kingdom during this time from a rate of roughly 12% to 74%. Between 1951 and 1969, the number of British people with one car rose steadily from 12% to 45%, a rate that varied little through to the year 2000. Dual car owners experienced a much more linear growth pattern, with values swelling from
1% to 23% during the period in question. Of note is the modest acceleration that is exhibited by the trend. A somewhat similar growth pattern, albeit less pronounced, was experienced by those that owned three or more cars. Between 1951 and 1969, these people made up a negligible portion of British society. However, this value climbed steadily
over the next 31 years, reaching 6% by the year 2000. This response groups all minor and minute details into one descriptive paragraph, but the response could compartmentalise these minor details into separate descriptive paragraphs: This line graph maps trends in car ownership in the United Kingdom between 1951 and 2000. It can be seen that
overall car ownership ballooned in the United Kingdom during this time from a rate of roughly 12% to 74%. Between 1951 and 1969, the number of British people with one car rose steadily from 12% to 45%. This rate varied little through to the year 2000. However, dual car owners experienced a much more linear growth pattern, with values swelling
from 1% to 23% during the period in question. Of note is the modest acceleration that is exhibited by this trend. 37 IELTS Academic Task 1: How to write at a band 9 level A somewhat similar growth pattern, albeit less pronounced, was experienced by those that owned three or more cars. Between 1951 and 1969, these people made up a negligible
portion of British society. However, this value climbed steadily over the next 31 years, reaching 6% by the year 2000. Because this is a time-sensitive source, a further option is to relocate the broad details sentence to the end of the response: This line graph maps trends in car ownership in the United Kingdom between 1951 and 2000. Between 1951
and 1969, the number of British people with one car rose steadily from 12% to 45%. From this point on, the rate varied little through to the year 2000. However, dual car owners experienced a much more linear growth pattern, with values swelling from 1% to 23% during the period in question. Of note is the modest acceleration that is exhibited by
this trend. A somewhat similar manner of growth, albeit less pronounced, was experienced by those that owned three or more cars. Between 1951 and 1969, these people made up a negligible portion of British society. However, this value climbed steadily over the next 31 years, reaching 6% by the year 2000. In summary, car ownership ballooned in
the United Kingdom during this time from an overall rate of roughly 12% to 74%. As these wording varieties show, effective Task 1 response structure can take several forms. 38 IELTS Academic Task 1: How to write at a band 9 level The following model responses demonstrate a variety of paragraphing approaches that can be used: The table
communicates temperature and precipitation averages for select Australian cities in 2010. The figures for both indicate variance between regions of Australia. There appears to be no noteworthy pattern between precipitation rate and temperature for any city. Sydney, Perth, Brisbane, Adelaide, Darwin and Hobart experienced similar fluctuation in
their temperatures. Their maximum temperatures, for example, were 21.9, 23.2, 25.5, 21.4, 31.1 and 16.3 degrees Celsius respectively, while their minimum temperatures were 14.6, 13.9, 16.7, 12.3, 23.9 and 9.1 degrees Celsius. Respective precipitation rates for these six cities were 9.1, 5.6, 16.7, 12.3, 11.5 and 4.7 centimetres. Of note were
precipitation rates for Darwin and Hobart, which marked the highest and lowest among all cities listed. Temperature patterns for the remaining cities were more extreme. Canberra, for example, experienced an average high of 19.3 degrees Celsius and an average low of 7.3 degrees Celsius, marking a fluctuation of 12 degrees. However,
temperatures in Melbourne varied by only 2.1 degrees Celsius, as evidenced by a maximum of 18.8 degrees Celsius and a minimum of 16.7 degree Celsius. Precipitation rates for these cities were 3.9 centimetres and 5 centimetres respectively. 39 IELTS Academic Task 1: How to write at a band 9 level The pie charts depict the changes in the average
American diet over a 50 year period between 1961 and 2011. Most of the food sources provided the same percentage of calories in both years. Grain provided just over a fifth (22%) of the total. Meanwhile meat made up just over half of that at 13%. Produce and other sources remained at the much lower proportions of 8% and 6% respectively. The
only two sources of calories that grew proportionally were sugar and fat, which increased from 29% in 1961 to 37% in 2011. On the contrary, dairy and eggs contributed 22% to the total number of calories in 1961, but this proportion fell to 14% fifty years later. Grain also started the period at 22%; however, this value did not change through to 2011.
Overall, the total number of calories consumed increased by almost a third from 2882 to 3641 over the period. To summarise, there was a trend towards eating more sugar and fat and less dairy and eggs, while eating more calories in total. 40 IELTS Academic Task 1: How to write at a band 9 level This diagram outlines an apparatus that can be used
to heat water for domestic use via the sun. As will be explained, this apparatus is capable of providing hot water regardless of sunlight levels. At the centre of the apparatus is a tank, which stores and circulates water for the house. This water tank is fed cold water at its base and dispenses hot water from its top. The tank water is heated in two ways.
The first heating method uses a traditional electric boiler, which pumps a heated anti-freeze solution through a pipe that coils within the upper part of the tank. The second involves a separate coil of pipe in the bottom of the tank that is connected to a second pump. This circulates the same antifreeze solution to the roof of the house where it is heated
by the sun in a solar collector and then returned to the tank to transfer this heat to the water. The pumps within both heating methods are adjusted and automatically regulated via a centralised controller, an arrangement that ensures hot water regardless of weather conditions. 41 IELTS Academic Task 1: How to write at a band 9 level The two maps
compare the topographical nature of the village of Richardson Pike in 1995 and present day. Major urbanisation occurred during the period in question. Firstly, the north-west quadrant of Richardson Pike saw growth in housing on both sides of Jasper Street and within its side street, which had been extended to the map edge by present day.
Farmland and a forest park in the north-east quadrant were developed into a golf course and tennis court of comparable size. Fish markets lined the coast along Seaview Road in 1995, and to their opposite were shops. These were developed into apartment buildings and restaurants respectively. The adjacent offshore fishing port to the south of the
city also experienced change and was remade as a shipping port. The only area experiencing milder changes was on the corner of Seaview Road and Jasper Street towards the south-east quadrant of the map, where the hotel and the cafe opposite remained unchanged aside from the addition of a parking lot next to the hotel. 42 IELTS Academic Task
1: How to write at a band 9 level The bar chart indicates the number of journeys made by public transport per person per day in three major cities in 2015, while the table shows the population density of those three cities in that year. The data makes it clear that population density is negatively correlated with public transport use. In London, the
average number of daily trips by public bus (0.75) was twice the number made by MRT/subway/metro (0.38), giving a total of 1.13 journeys per person per day. This contrasted with the situations in New York and Tokyo. In New York, the number of journeys made by MRT/subway/metro (0.5) was twice that for public bus (0.25), and this produced a
total of 0.75 daily trips per person. In Tokyo, the difference was more marked, with the figures being 0.95 and 0.05 respectively, giving each person an averaged total of 1 journey per day. The population density of the cities varied considerably from 5431 people/km?2 in London and a somewhat higher 6168 people/km2 in Tokyo to 10,908 people/km?2
in New York, a figure roughly double that of London. 43 IELTS Academic Task 1: How to write at a band 9 level Try it yourself! Write the descriptive section for the following questions. The line chart on the left indicates the average speed of traffic in London between 7 am and 10 am while the one on the right shows the percentage of traffic that was
made up of buses, cars and motorcycles or bicycles between those times for the years 2006 and 2007. Overall, the average speed of traffic fell during the period despite an increase in 2006.

44 TELTS Academic Task 1: How to write at a band 9 level The bar chart shows the percentage of people in ten European countries who owned laptops in 1995 and 2005. Overall, laptop ownership increased substantially in all ten countries, though the growth was most marked in

Denmark and lowest in Spain.

45 IELTS Academic Task 1: How to write at a band 9 level This diagram gives an overview of how the nitrogen cycle occurs inside a fish tank. The four major stages within this cycle are marked by interactions between chemical and biological processes that are dependent on the

presence of fish and plant life.

46 IELTS Academic Task 1: How to write at a band 9 level Suggested answers: The line chart on the left indicates the average speed of traffic in London between 7 am and 10 am while the one on the right shows the percentage of traffic that was made up of buses, cars and
motorcycles or bicycles between those times for the years 2006 and 2007. In January 2006, the average speed of traffic was 24.5 mph. This rose to just over 25 mph in August before falling to just under 25 mph in November. Thereafter, the figure increased to 25.5 mph in February 2007. Following that, the average speed declined to about 23.5 mph
in December 2007. Over the period, the percentage of traffic that was buses was fairly constant at around 47-49%. Meanwhile the proportion of cars decreased from about 33% to 28%. This was in contrast to the proportion of motorcycles and bicycles which rose from about 13% to approximately 18%. Overall, the average speed of traffic fell during
the period despite an increase in 2006. The bar chart shows the percentage of people in ten European countries who owned laptops in 1995 and 2005. In 1995, laptop ownership in three countries - the UK, Germany and Italy - was around 4%. By 2005, these figures had risen considerably to 12%, 14% and 10% respectively. In France, laptop
ownership was about 1.5% in 1995 and had increased to approximately 8.5% ten years later. In Sweden and Finland, about 1% of people had laptops in 1995, but these figures rocketed to 15% and 14% respectively a decade later. Norway, Denmark, Spain and the Netherlands all had ownership levels of below 1% in 1995. Ownership in Norway
increased to 12% in 2005. Meanwhile, 6% of Spaniards and 8% of the Dutch had laptops in that year. However, the most striking case was Denmark, where ownership rose to 17%. Overall, laptop ownership increased substantially in all ten countries, though the growth was most marked in Denmark and lowest in Spain. This diagram gives an overview
of how the nitrogen cycle occurs inside a fish tank. The four major stages within this cycle are marked by interactions between chemical and biological processes that are dependent on the presence of fish and plant life. The cycle begins with the creation of ammonia through fish respiration and the breakdown of plant remnants, fish excrement and
urine, and excess food. This ammonia is then converted to nitrite by nitrosamonas bacteria, and then broken down further to nitrate by nitrobacter bacteria, a phenomenon that marks the end of the second step in the process. The third step occurs when some of this resulting nitrate goes on to fertilise any plants in the tank while some is released
through the water’s surface into the air. The final stage in the cycle begins when remaining nitrate is converted by anaerobic bacteria into toxic gasses or ammonia, essentially creating the environment within which the process can begin again. 47 IELTS Academic Task 1: How to write at a band 9 level T he importance of cohesion Cohesion refers to
the ability of a piece of writing to link its various ideas together and operate as a collective unit. The responses written last chapter exhibit numerous instances of cohesion. This is done by employing cohesive phrases that reference other sentences and ideas found elsewhere in the response. Review these examples from earlier chapters. The wording
that helps the piece act cohesively has been indicated using arrows: Fig 6.1. This line graph maps trends in car ownership in the United Kingdom between 1951 and 2000. It can be seen that overall car ownership ballooned in the United Kingdom during this time from a rate of roughly 12% to 74%. Between 1951 and 1969, the number of British
people with one car rose steadily from 12% to 45%, a rate that varied little through to the year 2000. Dual car owners experienced a much more linear growth pattern, with values swelling from 1% to 23% during the period in question. Of note is the modest acceleration that is is exhibited by this trend. A somewhat similar growth pattern, albeit less
pronounced, was experienced by those that owned three or more cars. Between 1951 and 1969, these people made up a negligible portion of British society. However, this value climbed steadily over the next 31 years, reaching 6% by the year 2000. 48 IELTS Academic Task 1: How to write at a band 9 level The highlighted phrases above link sections
of the piece and create cohesion. As can be seen, these links tie the first paragraph to the second and adjacentsentences to each other. This practice of linking ideas demonstrates logical progression in the candidate’s writing, an important component of the creation of coherence and the overall demonstration of structure Use the arrows in the
following responses to trace the ways in which cohesion is created: Fig 6.2. The table communicates temperature and precipitation averages for select Australian cities in 2010. The figures for both indicate variance between regions of Australia. There appears to be no noteworthy pattern between precipitation rate and temperature for any city.
Sydney, Perth, Brisbane, Adelaide, Darwin and Hobart experienced similar fluctuation in their temperatures. Their maximum temperatures, for example, were 21.9, 23.2, 25.5, 21.4, 31.1 and 16.3 degrees Celsius respectively, while their minimum temperatures were 14.6, 13.9, 16.7, 12.3, 23.9 and 9.1 degrees Celsius. Respective precipitation rates
for these six cities were 9.1, 5.6, 16.7, 12.3, 11.5 and 4.7 centimetres. Of note were precipitation rates for Darwin and Hobart, which marked the highest and lowest among all cities listed. Temperature patterns for the remaining cities were more extreme. Canberra, for example, experienced an average high of 19.3 degrees Celsius and an average low
of 7.3 degrees Celsius, marking a fluctuation of 12 degrees. However, temperatures in Melbourne varied by only 2.1 degrees Celsius, as evidenced by a maximum of 18.8 degrees Celsius and a minimum of 16.7 degree Celsius. Precipitation rates for these cities were 3.9 centimetres and 5 centimetres respectively. 49 IELTS Academic Task 1: How to
write at a band 9 level Fig 6.3. The pie charts depict the changes in the average American diet over a 50 year period between 1961 and 2011. Most of the food sources provided the same percentage of calories in both years. Grain provided just over a fifth (22%) of the total. Meanwhile meat made up just over half of that at 13%. Produce and other
sources remained at the much lower proportions of 8% and 6% respectively. The only two sources of calories that grew proportionally were sugar and fat, which increased from 29% in 1961 to 37% in 2011. On the contrary, dairy and eggs contributed 22% to the total number of calories in 1961, but this proportion fell to 14% fifty years later. Grain
also started the period at 22%; however, this value did not change through to 2011. Overall, the total number of calories consumed increased by almost a third from 2882 to 3641 over the period. To summarise, there was a trend towards eating more sugar and fat and less dairy and eggs, while eating more calories in total. 50 IELTS Academic Task 1:
How to write at a band 9 level Fig 6.4. This diagram outlines an apparatus that can be used to heat water for domestic use via the sun. As will be explained, this apparatus is capable of providing hot water regardless of sunlight levels. At the centre of the apparatus is a tank, which stores and circulates water for the house. This water tank is fed cold
water at its base and dispenses hot water from its top. The tank water is heated in two ways. The first heating method uses a traditional electric boiler, which pumps a heated anti-freeze solution through a pipe that coils within the upper part of the tank. The second involves a separate coil of pipe in the bottom of the tank that is connected to a second
pump. This circulates the same anti-freeze solution to the roof of the house where it is heated by the sun in a solar collector and then returned to the tank to transfer this heat to the water. The pumps within both heating methods are adjusted and automatically regulated via a centralised controller, an arrangement that ensures hot water regardless of
weather conditions. 51 IELTS Academic Task 1: How to write at a band 9 level Fig 6.5. The two maps compare the topographical nature of the village of Richardson Pike in 1995 and present day. Major urbanisation occurred during the period in question. Firstly, the north-west quadrant of Richardson Pike saw growth in housing on both sides of
Jasper Street and within its side street, which had been extended to the map edge by present day. Farmland and a forest park in the north-east quadrant were developed into a golf course and tennis court of comparable size. Fish markets lined the coast along Seaview Road in 1995, and to their opposite were shops. These were developed into
apartment buildings and restaurants respectively. The adjacent offshore fishing port to the south of the city also experienced change and was remade as a shipping port. The only area experiencing milder changes was on the corner of Seaview Road and Jasper Street towards the south-east quadrant of the map, where the hotel and the cafe opposite
remained unchanged aside from the addition of a parking lot next to the hotel. 52 IELTS Academic Task 1: How to write at a band 9 level Fig 6.6. The bar chart indicates the number of journeys made by public transport per person per day in three major cities in 2015, while the table shows the population density of those three cities in that year. The
data makes it clear that population density is negatively correlated with public transport use. In London, the average number of daily trips by public bus (0.75) was twice the number made by MRT/subway/metro (0.38), giving a total of 1.13 journeys per person per day. This contrasted with the situations in New York and Tokyo. In New York, the
number of journeys made by MRT/subway/metro (0.5) was twice that for public bus (0.25), and this produced a total of 0.75 daily trips per person. In Tokyo, the difference was more marked, with the figures being 0.95 and 0.05 respectively, giving each person an averaged total of 1 journey per day. The population density of the cities varied
considerably from 5431 people/km2 in London and a somewhat higher 6168 people/km2 in Tokyo to 10,908 people/km?2 in New York, a figure roughly double that of London. 53 IELTS Academic Task 1: How to write at a band 9 level TRY IT YOURSELF! Draw arrows to indicate which highlighted words connect to each other. The line chart on the left
indicates the average speed of traffic in London between 7 am and 10 am while the one on the right shows the percentage of traffic that was made up of buses, cars and motorcycles or bicycles between those times for the years 2006 and 2007. In January 2006, the average speed of traffic was 24.5 mph. This rose to just over 25 mph in August before
falling to just under 25 mph in November. Thereafter, the figure increased to 25.5 mph in February 2007. Following that, the average speed declined to about 23.5 mph in December 2007. Over the period, the percentage of traffic that was buses was fairly constant at around 47-49%. Meanwhile the proportion of cars decreased from about 33% to
28%. This was in contrast to the proportion of motorcycles and bicycles which rose from about 13% to approximately 18%. Overall, the average speed of traffic fell during the period despite an increase in 2006. 54 IELTS Academic Task 1: How to write at a band 9 level Overall, the average speed of traffic feel during the period despite an increase in
2006. Overall, the average speed of traffic fell during the period despite an increase in 2006. The bar chart shows the percentage of people in ten European countries who owned laptops in 1995 and 2005. In 1995, laptop ownership in three countries - the UK, Germany and Italy - was around 4%. By 2005, these figures had risen considerably to 12%,
14% and 10% respectively. In France, laptop ownership was about 1.5% in 1995 and had increased to approximately 8.5% ten years later. In Sweden and Finland, about 1% of people had laptops in 1995, but these figures rocketed to 15% and 14% respectively a decade later. Norway, Denmark, Spain and the Netherlands all had ownership levels of
below 1% in 1995. Ownership in Norway increased to 12% in 2005. Meanwhile, 6% of Spaniards and 8% of the Dutch had laptops in that year. However, the most striking case was Denmark, where ownership rose to 17%. Overall, laptop ownership increased substantially in all ten countries, though the growth was most marked in Denmark and lowest
in Spain. 55 IELTS Academic Task 1: How to write at a band 9 level This diagram gives an overview of how the nitrogen cycle occurs inside a fish tank. The four major stages within this cycle are marked by interactions between chemical and biological processes that are dependent on the presence of fish and plant life. The cycle begins with the
creation of ammonia through fish respiration and the breakdown of plant remnants, fish excrement and urine, and excess food. This ammonia is then converted to nitrite by nitrosamonas bacteria, and then broken down further to nitrate by nitrobacter bacteria, a phenomenon that marks the end of the second step in the process. The third step occurs
when some of this resulting nitrate goes on to fertilise any plants in the tank while some is released through the water’s surface into the air. The final stage in the cycle begins when remaining nitrate is converted by anaerobic bacteria into toxic gasses or ammonia, essentially creating the environment within which the process can begin again. 56
IELTS Academic Task 1: How to write at a band 9 level TRY IT YOURSELF! (Answers) Draw arrows to indicate which highlighted words connect to each other. The line chart on the left indicates the average speed of traffic in London between 7 am and 10 am while the one on the right shows the percentage of traffic that was made up of buses, cars
and motorcycles or bicycles between those times for the years 2006 and 2007. In January 2006, the average speed of traffic was 24.5 mph. This rose to just over 25 mph in August before falling to just under 25 mph in November. Thereafter, the figure increased to 25.5 mph in February 2007. Following that, the average speed declined to about 23.5
mph in December 2007. Over the period, the percentage of traffic that was buses was fairly constant at around 47-49%. Meanwhile the proportion of cars decreased from about 33% to 28%. This was in contrast to the proportion of motorcycles and bicycles which rose from about 13% to approximately 18%. Overall, the average speed of traffic fell
during the period despite an increase in 2006. The bar chart shows the percentage of people in ten European countries who owned laptops in 1995 and 2005. In 1995, laptop ownership in three countries - the UK, Germany and Italy - was around 4%. By 2005, these figures had risen considerably to 12%, 14% and 10% respectively. In France, laptop
ownership was about 1.5% in 1995 and had increased to approximately 8.5% ten years later. In Sweden and Finland, about 1% of people had laptops in 1995, but these values rocketed to 15% and 14% respectively a decade later. Norway, Denmark, Spain and the Netherlands all had ownership levels of below 1% in 1995. Ownership in Norway
increased to 12% in 2005. Meanwhile, 6% of Spaniards and 8% of the Dutch had laptops in that year. However, the most striking case was Denmark, where ownership rose to 17%. Overall, laptop ownership increased substantially in all ten countries, though the growth was most marked in Denmark and lowest in Spain. 57 IELTS Academic Task 1:
How to write at a band 9 level This diagram gives an overview of how the nitrogen cycle occurs inside a fish tank. The four major stages within this cycle are marked by interactions between chemical and biological processes that are dependent on the presence of fish and plant life. The cycle begins with the creation of ammonia through fish
respiration and the breakdown of plant remnants, fish excrement and urine, and excess food. This ammonia is then converted to nitrite by nitrosamonas bacteria, and then broken down further to nitrate by nitrobacter bacteria, a phenomenon that marks the end of the second step in the process. The third step occurs when some of this resulting
nitrate goes on to fertilise any plants in the tank while some is released through the water’s surface into the air. The final stage in the cycle begins when remaining nitrate is converted by anaerobic bacteria into toxic gasses or ammonia, essentially creating the environment within which the process can begin again. 58 IELTS Academic Task 1: How to
write at a band 9 level T ask 1 lexical patterns for quick reference How to refer to data The figure for x The trend for The data for The value for single car owners climbed to 45% by 1969. The number of The amount of How to refer to a maximum or a minimum The figure x peaked at topped at bottomed out at hit a trough of 59 24% in 2000. x IELTS
Academic Task 1: How to write at a band 9 level How to refer to an increase shot to rocketed to jumped to swelled to The number ballooned to 10% by the year 1940. rose to climbed to inched to crawled to How to refer to a decrease slid to The number dropped to fell to shrunk to plummeted to 60 10% by the year 1940. IELTS Academic Task 1: How
to write at a band 9 level How to refer to an unchanging figure maintained a value of remained stable at held steady at The trend plateaued at went without change at 24 for three consecutive months. went unaltered at How to describe a volatile state The trend experienced volatility for a period of three years wavered between 25% and 32% in 2010
rocked between 13% and 15% in 2010 61 before it stabilised at 20% in 2011. IELTS Academic Task 1: How to write at a band 9 level How to declare the cyclical nature of data The diagram How to reference time The trend is cyclical in nature, repeating once every follows a cycle that lasts commenced in began in May and finished in occurred
between May and 6 months. x MAY JUNE JULY June. is isolated to concluded in continued through How to describe an exception This was the case x except between 1992 and 1993 save 1992 and 1993 62 when voter turnout climbed to 52%. IELTS Academic Task 1: How to write at a band 9 level How to describe majority Brazilian products made up
the vast majority had the largest share of Columbian imports in 1994. were the majority How to describe minority or insignificancy Brazilian products were a small part made up an insignificant portion were a rather negligible part made up next to none held a rather small share 63 of Columbian imports in 1994. IELTS Academic Task 1: How to write
at a band 9 level How to describe share 33% were roughly a quarter Brazilian products made up half How to describe phases of Columbian imports in 1994. First, 2 Second, Following this initial phase, 3 1 Then Before this can occur, After this stage In the next phase, The second last stage is when Finally, 64 the water is pumped out of the dam.
IELTS Academic Task 1: How to write at a band 9 level How to describe direction or location to the right of adjacent directly below The water travels along an aqueduct sitting flush on the tank. laying flat on hovering above below about 3 cm from Sentence complexity can be increased through understanding how to scaffold and accurately rearrange
the components of sentence structure: Subject Verb Prepositional phrase Time clause Cohesive device Appositive Restrictive clause The number of single car owners rose. The number of single car owners rose to just over 45%. The number of single carowners rose to just over 45% in 1995. Following this, the number of single car owners rose to just
over 45% in 1995. Following this, the number of single car owners rose to just over 45% in 1995, a climb not matched elsewhere in the graph. The number of single car owners then rose to just over 45% in 1995, a climb not matched elsewhere in the graph. In 1995, the number of single car owners rose to just over 45%, a climb not matched
elsewhere in the graph. The number of single car owners then rose to just over 45% in 1995, marking the highest point in the graph. 65 IELTS Academic Task 1: How to write at a band 9 level Grammatical and lexical accuracy does not necessarily mean the sentence is free from awkwardness. Candidates should be aware of these very common
Academic Task 1 stylistic mistakes: Repetition Parallelism Repeated information between sentences can create awkwardness for the reader. For example, ‘Pear production fell to 3300 tonnes in 1995; however, in 1995, pear production started a ten-year climb.” Here, a pronoun or cohesive device should be used instead of repeating the year ‘1995’:
‘Pear production fell to 3300 tonnes in 1995; however, this point marks the start of a ten-year climb.’ Phrases can be quantified with an adverb so long as this adverb agrees with the nature of the trend being explained. For example, “The figure gradually climbed to 10% over the course of four years.” would be acceptable but ‘The figure gradually shot
to 10% over the course of four years.” would be incorrect because by nature the verb ‘to shoot’ cannot be gradual. Tone Overly emotive language can cause problems for the tone of the response. For example, ‘Pear production had an unbelievable year in 2005 marked by a tripling in annual production.” Grammar 1. For data that shows information
that is recurring and without reference to a specific period of time, such as the cyclical nature of an animal’s life cycle, the present simple tense should be used throughout to indicate the revolving nature of the information. 2. As exemplified by every response in this book, the overview paragraph’s declaration of the source type(s) is carried out in the
present tense, even if the source is with clear reference to events that occurred in the past. 66 IELTS Academic Task 1: How to write at a band 9 level R eview quiz 1. Match the following images with the definition for the data they communicate. A visualisation of how data evolved over a period of time Stages in a repeating process The evolution of
terrain Data listed for select moments of time Data at a single moment in time as a ratio of a whole 67 IELTS Academic Task 1: How to write at a band 9 level 2. Look at the below task and answer the following questions. ‘Source: a. What two source types are seen? b. What broad trend is created between them?

68 IELTS Academic Task 1: How to write at a band 9 level
Overview paragraph C. Order these sentences to complete a model response. 1. 2. a) Meanwhile, second tier cities were made up of 80% Canada-born Canadians. b) Two of the individual cities mentioned in the data - Toronto and Vancouver - had the highest proportions of foreign born Canadians at roughly 45% and 38% respectively. c) The bar
graph and pie chart indicate the percentage of foreign born Canadians in 2001 in various parts of Canada (the bar graph) and in the country as a whole (the pie chart). Descriptive paragraph Descriptive paragraph 3. 4. 5. 6. 7. d) Overall, Toronto and Vancouver had the highest proportions of foreign born residents, Montreal and second tier cities had
average percentages and third tier cities and the rest of Canada had the lowest proportions. e) The corresponding rate for third tier cities was much higher at 92%. f) The rest of Canada had a slightly lower figure of 91%, a rate that was 9% higher than the national average. g) It is worth noting that the third individually mentioned city - Montreal -
had an identical percentage of foreign born Canadians as Canada as a whole (18%). 69 IELTS Academic Task 1: How to write at a band 9 level R eview quiz (Answers) 1. Match the following images with the definition for the data they communicate. A visualisation of how data evolved over a period of time Stages in a repeating process The evolution of
terrain Data listed for select moments of time Data at a single moment in time as a ratio of a whole 70 IELTS Academic Task 1: How to write at a band 9 level 2. Look at the below task and answer the following questions. ‘Source: a. What two source types are seen? bar graph pie chart b. What broad trend is created between them? Immigrant
migration patterns within Canada tend to move in tandem with urbanisation. 71 IELTS Academic Task 1: How to write at a band 9 level Overview paragraph C. Order these sentences to complete a model response. 1. 2. Descriptive paragraph Descriptive paragraph 3.cd b 4. g 5. a 6. 7. e f a) Meanwhile, second tier cities were made up of 80%
Canada-born Canadians. b) Two of the individual cities mentioned in the data - Toronto and Vancouver - had the highest proportions of foreign born Canadians at roughly 45% and 38% respectively. c) The bar graph and pie chart indicate the percentage of foreign born Canadians in 2001 in various parts of Canada (the bar graph) and in the country
as a whole (the pie chart). d) Overall, Toronto and Vancouver had the highest proportions of foreign born residents, Montreal and second tier cities had average percentages and third tier cities and the rest of Canada had the lowest proportions. e) The corresponding rate for third tier cities was much higher at 92%. f) The rest of Canada had a slightly
lower figure of 91%, a rate that was 9% higher than the national average. g) It is worth noting that the third individually mentioned city - Montreal - had an identical percentage of foreign born Canadians as Canada as a whole (18%). 72 IELTS Academic Task 1: How to write at a band 9level 'l EREHTYA W F L A H RE YOU A You've maximised
your score on Task 1. Now do the same for Task 2! Buy Academic or General IELTS Task 2: How to write at a band 9 level! Get your copy in less than two minutes at IELTSIELTS.com 73 IELTS Academic Task 1: How to write at a band 9 level A bout the author Ryan Higgins is the author of several widely acclaimed ebooks on the subject of IELTS
Writing. Today he coaches IELTS candidates online through his YouTube channel and writing courses. He lives in Dubai. Website: ieltsielts.com Facebook: IELTSNetwork WeChat: Twitter: @ieltsnetwork Products: EnglishRyan.com 74
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